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(a) Pareto efficient #9m= g — o
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g Pareto efficient a4k & -
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(a) Lorez curve #fpak 45 H 4 » PR3 D BLARTR T34 -
(b) Gini Coefficient Ak » F74F S BATRF-34 -
(c) Gini Coefficient FTAE AM 1 -
(d) Gini Coefficient TTHE A E o

=~ (M4 )
KA RAALEEA T I b B o

I ¥ARZTHAHZASHRFTH AT HEREHMS P = 120 - Q- Hgp
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BRI A KGR IFARE 25 o FHAEAAE BT 618 0 O # 4 # 4k (consumer
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Ak s MC(QO =10 - 0.2Q AP QAXBHZAE o 35 BUFT LR
RABA S ZRA > BB 8 R AR AL A E A # 8k (producer surplus) s
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C=200+05Y" [ =100 - 51> G =50
Y=C+1+6G>» M= 100 M/P =60 - 2r+0.1Y-
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